#include <Servo.h>
Servo DO,RE,MI,FA,SO,LA,TI,DA;
int pos = 0;
void setup() {
    DO.attach(0);
    //RE.attach(1);
    //MI.attach(2);
    FA.attach(3);
    SO.attach(4);
    LA.attach(5);
    TI.attach(6);
    DA.attach(7);
}
void loop() {
//BRATEC MARTIN
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    SO.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    SO.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    LA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    LA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
//PONAVLJANJE
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    SO.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    SO.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    LA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    LA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    LA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    LA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    TI.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    TI.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(400);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(400);
//PONAVLJANJE
for (pos = 0; pos <= 60; pos += 4) { 
    LA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    LA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    TI.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    TI.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(400);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(400);
//______________________________________
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(40);
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(40);
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(40);
  for (pos = 0; pos <= 60; pos += 4) { 
    TI.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    TI.write(pos);  
    delay(5);
    }
    delay(40);
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    LA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    LA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
//PONAVLJANJE
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(40);
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(40);
  for (pos = 0; pos <= 60; pos += 4) { 
    DA.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    DA.write(pos);  
    delay(5);
    }
    delay(40);
  for (pos = 0; pos <= 60; pos += 4) { 
    TI.write(pos); 
    delay(5);  
    }
    delay(40);
  for (pos = 60; pos >= 0; pos -= 4) {
    TI.write(pos);  
    delay(5);
    }
    delay(40);
  for (pos = 0; pos <= 60; pos += 4) { 
    LA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    LA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    DO.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    DO.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(400);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(400);
//PONAVLJANJE
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(150);
  for (pos = 0; pos <= 60; pos += 4) { 
    DO.write(pos); 
    delay(5);  
    }
    delay(150);
  for (pos = 60; pos >= 0; pos -= 4) {
    DO.write(pos);  
    delay(5);
    }
    delay(150);
//______________________________________
  for (pos = 0; pos <= 60; pos += 4) { 
    FA.write(pos); 
    delay(5);  
    }
    delay(400);
  for (pos = 60; pos >= 0; pos -= 4) {
    FA.write(pos);  
    delay(5);
    }
    delay(400);
//______________________________________
delay(2000);
}
